Chicken Coop Run
Instruction Manual

For Specification: 9.8'Lx13.1'Wx6.4'H (3m*4m*1.95m)

Note: If you encounter any problem with the installation,

Please Contact ROOMTEC Installation Help, Missing or Replace-
ment Parts. Please also tell us your “ORDER ID,” we will solve for
you as soon as possible.

TEL: (800)209.3199 (MON-FRI 9:00am-5:00pm Eastern Time)
Email:service@room-tec.com




PARTS LIST

 Carefully remove all the parts from the carton and Make sure all accessories
are complete.

« Carefully and strictly According these assembly&installation instructions to
ensure a completed product as designed.

* Do not tighten all the screws until each part is properly assembled

®© @ B @ ® |® |@ ©), an
i i i i g i A <N
) o
u u Lol 5| ) ),
1370mm | 1840mm | 950mm | 1480mm | 1810mm | 1610mm | 1480mm | 1610mm | 1480mm | 723mm | 640mm
4pcs 10pcs 6pcs 6pcs Tpc Tpc Tpc Tpc Tpc Tpc 2pcs
A B C D E F G
o | Xy, | e d, | =X
<) (&30 | D
4pcs 1pc 3pcs 5pcs Tpc 2pcs 3pcs
U Clips Electro hex Cable tie | Oxford Cover| Rubber rope
2pcs Tpc 350pcs 1pc 14pcs
® g @
M6 screws |M6 screw nuts| M8 screws |M8 screw nuts| M5 screws
4pcs 4pcs 2pcs 2pcs 2pcs
Screwdirver Wrench Scissor




L ________________________________________________________________________
CHICKEN COOP RUN ASSEMBLY

STEP 1

NOTE:Arrange the required accessories according to the serial number in the picture

I According the step diagram, connect @. @ to A
II use @ connect C to both sides

IT use @ connect C to both sides
IV First put two F on two @ respectively, and then use B to connect the two @

&@\)
@ O
(/%// \»9
-

@ //*\\\
@ \\/ \\Qx® \EFi\\ ////H\\\
. a7 @
\\\\\;/ / ////‘\\\ "©
O _ 7~ ©@
®
[ IV

STEP 2

I According the step diagram , Insert 4 pieces of @ into A
II Insert 2 pieces of and @3 into C
I Insert 1 pieces of and ® into C




CHICKEN COOP RUN ASSEMBLY
STEP 3

I According the step diagram,Insert the 4 pieces of D into the 3 respectively
II Insert the 2 pieces of G into the ®
I insert two @ into two D respectively, and then use D to connect the two @at the top

IV insert two @ into G respectively, and then use G to connect the two @at the top
V Insert the E into the G),and then insert two @ into E from both sides

Notice:The direction of installation D, E needs to be strictly in accordance with the diagram

STEP 4

I According the step diagram, Use 6 pieces of @ to connect the endsof D, G, E
on the roof respectively




CHICKEN COOP RUN ASSEMBLY
STEP 5

I According the step diagram,insert ® and ® into two F respectively, and then insert @ into
the top of ® and

IT Use screwdriver to Screws M5 to tighten F

I Use U clips to fix the position of the door frame, then Use screwdriver to
Screws M6 tighten U clips

Required Tools

&)
& = A
M5 M6 M6
screws x 1 screws x 2 | screw nuts x 2 Screwdirver x 1| Wrench x 1
||
[1® ®y

STEP 6

I According the step diagram,use @ and @ connect two (D to form a door frame,
then put the door frame into the door hinge, using M8 to tighten it

Required Tools

l

M8
screws x 2

M8
screw nuts x 2

Wrench x 1

I

®

e

MS% l' M 7Zscrews %
e

I'e

M6 screw nuts

g

¥ M screws

Mg screw nuts

T M8 screws

o

g screw nuts




CHICKEN COOP RUN ASSEMBLY

STEP 7

AAV

§V

\7
Q

R

SAvy

q

%4

Electro hex

Electro hex

h

Glove
Electro hex

Scissor

Required Tools
Cable tie

Electro hex

cut along the frame, Cut the hexagonal wire mesh shape

II According the step diagram, Cover the cage frame with hexagonal wire mesh and carefully
Stake

IT Use cable ties to fix the hexagonal wire mes

I Secure the base with ground stakes

One plug every 250mm

Tie it all around

STEP 8

Rubber rope

Required Tools

Oxford Cover

I Use rubber rope to fix the Oxford cloth




AFTER-SALES
SERVICE CARD

We sincerely thank you for trusting our service and our products,
and may this product add enrichment to your home. We guarantee
that the product has undergone strict quality inspection and
meticulous packaging. If you encounter any issue regarding either
shipping or the product, please feel free to contact us at any time.
We'd be more than happy to serve you wholeheartedly.

Yours Sincerely

» Please avoid harsh, corrosive and abrasive cleane

 Keep dry and avoid damp environments.

Customer Service:(800)209.3199(MON-FRI 9:00am-5:00pm
Eastern Time)

Address: 3005 Breckinridge Blvd, Suite 200, Duluth, GA 30096

If you have any questions or concerns please feel free to contact us.
We're committed to providing our customers with the quality service.



